# Invoice



Tel: 510-324-0168; Fax: 888-293-0615

Website: Bossenstore.com

Invoice Number: 0191666-IN Invoice Date: 5/12/2023

Order Number: 0115607 Order Date 2/16/2023 Salesperson: BC

Customer Number: BAMB7663

Ship To:

Bamboo Cafe 2792 Cochran St Simi Valley, CA 93065

**Business Hours:** 

Confirm To: Justin Nguyen 408-360-7663

Simi Valley, CA 93065

Sold To:

Bamboo Cafe 2792 Cochran St

Customer P.O.	<b>Ship VIA</b> BEST OVERNIGHT	Terms C.O.D.		<b>Due Date</b> 5/12/2023	<b>Ship Date</b> 5/12/2023	
Item Code		Unit	Ordered	Price	,	Amount
EM0021-CTF	Fructose Dispenser (24 Keys) - NSF+CE	SET	1.00	1,600.00		1,600.00
EM0063	Blender Base	SET	2.00	320.00		640.00
EM0064	Tea Making Blender Container (32oz)	PIEC	2.00	125.00		250.00
KS0081	Powder Spoon	PIEC	10.00	1.75		17.50
KS0106	Shaker (700cc) - Black Marks	PIEC	2.00	18.00		36.00
KS0083-1	Boba Scoop	PIEC	10.00	4.50		45.00
KS0083-2	Boba Scoop - Wire	PIEC	5.00	3.00		15.00
KS0513	Measuring PP Cup (2000 ml)	PIEC	1.00	8.00		8.00
DP0016	Taro Powder - Grade A (Bossen, 2.2 lbs, 20 Bags / Box)	CS20	1.00	182.00		182.00
DP0156	Tiger Powder - Plain Flavor (2.2lbs, 20 Bags / Case)	CS20	1.00	260.00		260.00
DP0211	Whipping Powder (Bossen, 2.2 lbs, 20 Bags / Box)	CS20	1.00	272.00		272.00
DP0215	Cheese Creama Whipping Powder (Boseen, 2.2 lbs, 20 Bags / Box)	CS20	1.00	285.00		285.00
DP0225	Grass Jelly Powder (Bossen, 2.2 lbs, 20 Bags / Box) - 1:12 Version	CS20	1.00	240.00		240.00

2

# Invoice



Tel: 510-324-0168; Fax: 888-293-0615

Website: Bossenstore.com

Invoice Number: 0191666-IN Invoice Date: 5/12/2023

 Order Number:
 0115607

 Order Date
 2/16/2023

 Salesperson:
 BC

**Customer Number:** BAMB7663

Ship To:

Bamboo Cafe 2792 Cochran St Simi Valley, CA 93065

**Business Hours:** 

Bamboo Cafe 2792 Cochran St Simi Valley, CA 93065

Confirm To:

Sold To:

Justin Nguyen 408-360-7663

	Unit	Ordered	Price		Amount
Egg Pudding Powder (Bossen, 2.2 lbs, 20 Bags / Box)	CS20	1.00	260.00		260.00
Non Dairy Creamer (Bossen, 44 lbs)	BAG	5.00	93.00		465.00
Matcha Green Tea Powder - Premium (Bossen, 2.2 lbs, 20 Bags / Box)	CS20	1.00	218.00		218.00
Okinawa Milk Tea Powder (Bossen, 2.2 lbs, 20 Bags / Box)	CS20	1.00	190.00		190.00
Durian Powder (Bossen, 2.2 lbs, 20 Bags / Box)	CS20	1.00	190.00		190.00
Strawberry Syrup - Pulp (Bossen, 5.5 lbs, 6 Bottles / Box)	CS06	1.00	68.00		68.00
Mango Syrup - Pulp (Bossen, 11 lbs, 4 Bottles / Box)	CS04	1.00	93.00		93.00
Passion Fruit Syrup - Pulp (Bossen, 11 lbs, 4 Bottles / Box)	CS04	1.00	93.00		93.00
Peach Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)	CS06	1.00	60.00		60.00
Lychee Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)	CS06	1.00	60.00		60.00
Green Apple Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)	CS06	1.00	60.00		60.00
Honeydew Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)	CS06	1.00	60.00		60.00
Wintermelon Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)	CS06	1.00	60.00		60.00
	Non Dairy Creamer (Bossen, 44 lbs)  Matcha Green Tea Powder - Premium (Bossen, 2.2 lbs, 20 Bags / Box)  Okinawa Milk Tea Powder (Bossen, 2.2 lbs, 20 Bags / Box)  Durian Powder (Bossen, 2.2 lbs, 20 Bags / Box)  Strawberry Syrup - Pulp (Bossen, 5.5 lbs, 6 Bottles / Box)  Mango Syrup - Pulp (Bossen, 11 lbs, 4 Bottles / Box)  Passion Fruit Syrup - Pulp (Bossen, 11 lbs, 4 Bottles / Box)  Peach Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)  Lychee Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)  Green Apple Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)  Honeydew Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)	Matcha Green Tea Powder - Premium (Bossen, 2.2 CS20 lbs, 20 Bags / Box)  Okinawa Milk Tea Powder (Bossen, 2.2 lbs, 20 Bags / CS20 Box)  Durian Powder (Bossen, 2.2 lbs, 20 Bags / Box)  CS20  Strawberry Syrup - Pulp (Bossen, 5.5 lbs, 6 Bottles / CS06 Box)  Mango Syrup - Pulp (Bossen, 11 lbs, 4 Bottles / Box)  CS04  Passion Fruit Syrup - Pulp (Bossen, 11 lbs, 4 Bottles / CS04 Box)  Peach Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)  CS06  Lychee Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)  CS06  Green Apple Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)  CS06  Honeydew Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)  CS06	Non Dairy Creamer (Bossen, 44 lbs)         BAG         5.00           Matcha Green Tea Powder - Premium (Bossen, 2.2 CS20 lbs, 20 Bags / Box)         1.00           Okinawa Milk Tea Powder (Bossen, 2.2 lbs, 20 Bags / CS20 lbs, 20 Bags / Box)         1.00           Durian Powder (Bossen, 2.2 lbs, 20 Bags / Box)         CS20 lbs, 20 Bags / Box)         1.00           Strawberry Syrup - Pulp (Bossen, 5.5 lbs, 6 Bottles / Box)         CS06 lbs, 6 Bottles / Box)         1.00           Mango Syrup - Pulp (Bossen, 11 lbs, 4 Bottles / Box)         CS04 lbs, 6 Bottles / Box)         1.00           Passion Fruit Syrup - Pulp (Bossen, 5.5 lbs, 6 Bottles / Box)         CS06 lbs, 6 Bottles / Box)         1.00           Lychee Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)         CS06 lbs, 6 Bottles / Box)         1.00           Green Apple Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)         CS06 lbs, 6 Bottles / Box)         1.00           Honeydew Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)         CS06 lbs, 6 Bottles / Box)         1.00	Non Dairy Creamer (Bossen, 44 lbs)         BAG         5.00         93.00           Matcha Green Tea Powder - Premium (Bossen, 2.2 CS20 lbs, 20 Bags / Box)         1.00         218.00           Okinawa Milk Tea Powder (Bossen, 2.2 lbs, 20 Bags / Box)         CS20 lbs, 20 Bags / Box)         1.00         190.00           Durian Powder (Bossen, 2.2 lbs, 20 Bags / Box)         CS20 lbs, 20 Bags / Box)         1.00         190.00           Strawberry Syrup - Pulp (Bossen, 5.5 lbs, 6 Bottles / Box)         CS06 lbs, 6 Bottles / Box)         1.00         68.00           Mango Syrup - Pulp (Bossen, 11 lbs, 4 Bottles / Box)         CS04 lbs, 6 Bottles / Box)         1.00         93.00           Peach Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)         CS06 lbs, 6 Bottles / Box)         1.00         60.00           Lychee Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)         CS06 lbs, 6 Bottles / Box)         1.00         60.00           Honeydew Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)         CS06 lbs, 6 Bottles / Box)         1.00         60.00	Non Dairy Creamer (Bossen, 44 lbs)  BAG  5.00  93.00  Matcha Green Tea Powder - Premium (Bossen, 2.2 CS20  1.00  218.00  Dokinawa Milk Tea Powder (Bossen, 2.2 lbs, 20 Bags / Box)  CS20  1.00  190.00  Durian Powder (Bossen, 2.2 lbs, 20 Bags / Box)  CS20  1.00  190.00  Strawberry Syrup - Pulp (Bossen, 5.5 lbs, 6 Bottles / Box)  CS06  1.00  68.00  Mango Syrup - Pulp (Bossen, 11 lbs, 4 Bottles / Box)  CS04  1.00  93.00  Passion Fruit Syrup - Pulp (Bossen, 11 lbs, 4 Bottles / Box)  CS06  1.00  60.00  Lychee Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)  CS06  1.00  60.00  Honeydew Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)  CS06  1.00  60.00  Honeydew Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)  CS06  1.00  60.00  Honeydew Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)  CS06  1.00  60.00

3

#### Page:

# Invoice



Tel: 510-324-0168; Fax: 888-293-0615

Website: Bossenstore.com

Invoice Number: 0191666-IN **Invoice Date:** 5/12/2023

Order Number: 0115607 Order Date 2/16/2023 Salesperson: BC

Customer Number: BAMB7663

Ship To:

Bamboo Cafe 2792 Cochran St Simi Valley, CA 93065

**Business Hours:** 

Simi Valley, CA 93065 Confirm To:

Sold To:

Bamboo Cafe 2792 Cochran St

Justin Nguyen 408-360-7663

Customer P.O.	<b>Ship VIA</b> BEST OVERNIGHT	Terms C.O.D.		<b>Due Date</b> 5/12/2023	<b>Ship Date</b> 5/12/2023	
Item Code		Unit	Ordered	Price		Amount
DSF1001	Pineapple Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)	CS06	1.00	60.00		60.00
DSF1201	Kumquat Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)	CS06	1.00	66.00		66.00
DSF1601	Red Guava Syrup (Bossen, 5.5 lbs, 6 Bottles / Box)	CS06	1.00	66.00		66.00
DS0143	Rose Syrup (5.5 lbs, 6 Bottles / Box)	CS06	1.00	69.00		69.00
DS0192	Honey Flavored Syrup (Bossen, 6.6 lbs, 6 Bottles / Box)	CS06	1.00	69.00		69.00
DS0321	Dragon Fruit Syrup (Bossen, 5.5 lbs, 6 bottles/box)	CS06	1.00	69.00		69.00
DS0890	Fructose (5 gallons / Bottle)	BTLE	5.00	52.00		260.00
DS0331	Premium Brown Sugar Syrup (Bossen, 11 lbs, 4 bottles/box)	CS04	2.00	104.00		208.00
TB0071	Hong Kong Style Tea - New Classic (5lbs, 4 Bags / Case)	CS04	1.00	140.00		140.00
TR0101	Butterfly Pea Tea (50g, 40 Bags / Case)	CS40	1.00	240.00		240.00
TB0034	(Loose) Jasmine Green Tea - A2 (600g, 20 Bags / Case)	CS20	1.00	210.00		210.00
TF0172	Jasmine Green Tea - 528 (500g, 24 Bags / Case)	CS24	2.00	260.00		520.00
TF0081	Peach Oolong Tea (500g, 24 Bags / Case)	CS24	1.00	330.00		330.00

# Invoice



Tel: 510-324-0168; Fax: 888-293-0615

Website: Bossenstore.com

Invoice Number: 0191666-IN Invoice Date: 5/12/2023

Order Number: 0115607 Order Date 2/16/2023 Salesperson: BC

Customer Number: BAMB7663

Ship To:

Bamboo Cafe 2792 Cochran St Simi Valley, CA 93065

**Business Hours:** 

Simi Valley, CA 93065 Confirm To: Justin Nguyen 408-360-7663

Sold To:

Bamboo Cafe 2792 Cochran St

Customer P.O.	<b>Ship VIA</b> BEST OVERNIGHT	Terms C.O.D.		<b>Due Date</b> 5/12/2023	<b>Ship Date</b> 5/12/2023	
Item Code		Unit	Ordered	Price	•	Amount
TF0021	Ceylon Tea (500g, 24 Bags / Case)	CS24	1.00	250.00		250.00
TR0031	White Grape Oolong Tea (9.5g x 50 Sachets x 20 Bags / Case)	CS20	1.00	300.00		300.00
TF0012	Toffee Assam Tea (500g, 24 Bags / Case)	CS24	1.00	250.00		250.00
TB0081	(Loose) Four Seasons Oolong Tea (600g, 20 Bags / Case)	CS20	1.00	350.00		350.00
TF0071	Oolong Tea (500g, 24 Bags / Case)	CS24	1.00	298.00		298.00
TF0152	#Genmaicha Tea (500g, 24 Bags / Case)	CS24	1.00	330.00		330.00
JA0011	Strawberry Jam (Bossen, 10 lbs, 4 Bottles / Box)	CS04	1.00	76.00		76.00
JA0031	Mango Jam (Bossen, 10 lbs, 4 Bottles / Box)	CS04	1.00	84.00		84.00
JA0051	Passion Fruit Jam (Bossen, 9 lbs, 4 Bottles / Box)	CS04	1.00	76.00		76.00
JA0071	Peach Jam (Bossen, 9 lbs, 4 Bottles / Box)	CS04	1.00	84.00		84.00
JE0013	Rainbow Jelly - BT (Bossen, 8.38 lbs, 4 Bottles / Box)	CS04	2.00	51.00		102.00
JE0031	Lychee Jelly (Bossen, 8.38 lbs, 4 Bottles / Box)	CS04	2.00	51.00		102.00
JE0062	Heart Strawberry Jelly (Bossen, 8.38 lbs, 4 Bottles / Box)	CS04	2.00	63.00		126.00

#### Page:

# Invoice



Tel: 510-324-0168; Fax: 888-293-0615

Website: Bossenstore.com

Invoice Number: 0191666-IN Invoice Date: 5/12/2023

Order Number: 0115607 Order Date 2/16/2023 Salesperson: BC

**Customer Number:** BAMB7663

Ship To:

Bamboo Cafe 2792 Cochran St Simi Valley, CA 93065

**Business Hours:** 

Confirm To: Justin Nguyen 408-360-7663

Simi Valley, CA 93065

Sold To:

Bamboo Cafe 2792 Cochran St

Customer P.O.	<b>Ship VIA</b> BEST OVERNIGHT	Terms C.O.D.		<b>Due Date</b> 5/12/2023	<b>Ship Date</b> 5/12/2023	
Item Code		Unit	Ordered	Price	e	Amount
JE0091	Coffee Jelly (Bossen, 7.26 lbs, 4 Bottles / Box)	CS04	2.00	62.00		124.00
JE1001	Crystal Boba - Original (4.4 lbs, 6 Bags / Box)	CS06	2.00	58.00		116.00
JE0111	Coconut Flavored Jelly (Bossen, 8.38 lbs, 4 Bottles / Box)	CS04	2.00	51.00		102.00
JE1009	Crystal Boba - Cherry Blossom (4.4 lbs, 6 Bags / Box)	CS06	2.00	60.00		120.00
BBB017	Bursting Boba - Honey (Bossen, 7.26 lbs, 4 Tubs / Case)	CS04	1.00	62.00		62.00
BBP013	Bursting Boba Pure25 - Orange (Bossen, 7.26 lbs, 4 Bottles / Case)	CS04	1.00	62.00		62.00
TA0015	Big Tapioca (Bossen, 6.6 lbs, 6 Bags / Case)	CS06	5.00	44.00		220.00
CPRV-660-3	PP Cup (V660, Bubble Tea Design) (660ml/ 22 oz, 90mm, 1000 pcs)	CASE	2.00	99.00		198.00
CPV22-7	PP 90mm Cup Lid - Clear (1000 pcs) (W/Red Heart Shape Plug)	CASE	2.00	53.00		106.00
/HANDLING FEE:	2 CC Handling Fee 3%					347.18

#### Invoice



Hayward, CA 94544

Tel: 510-324-0168; Fax: 888-293-0615

Website: Bossenstore.com

Invoice Number: 0191666-IN Invoice Date: 5/12/2023

Order Number: 0115607 Order Date 2/16/2023 Salesperson: BC

Customer Number: BAMB7663

Ship To:

Bamboo Cafe 2792 Cochran St Simi Valley, CA 93065

**Business Hours:** 

2792 Cochran St Simi Valley, CA 93065 Confirm To:

Bamboo Cafe

Sold To:

Justin Nguyen 408-360-7663

Customer P.O.	Ship VIA	Terms	Due Date	Ship Date
	BEST OVERNIGHT	C.O.D.	5/12/2023	5/12/2023
•				

**Item Code** Unit Ordered Price **A**mount

Please understand that it is a third party trucking company and we will need all the proof in order to claim any damages from them. Thank you!

Net Invoice:	11,919.68
Less Discount:	347.18
Freight:	300.00
Sales Tax:	183.65
Invoice Total:	12,056.15

<sup>\*\*</sup>Return Policies: Please inspect your order carefully. Leadway Int' will not be responsible for damage/missing item(s) once the order is CONFIRMED WITH SIGNAURE. No refund/exchange is allowed after 30 days of purchase. A 20% restocking fee applies for items) returned within 30 days from purchase. A \$30 fee applies per bounced check/ACH non-sufficient funds and a 2% finance fee to past due balances.

<sup>\*\*</sup>Please inspect your shipment carefully upon arrival, please take pictures and put notes on the bill if there is any damage or missing items. Leadway International will not be responsible if CONFIRMED WITH SIGNATURE.